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MaccuBsi

MaccuBsbl

1 ary = Array.new #=> []

> Array.new(3) #=> [nil, nil, nil]

s Array.new(3, true) #=> [true, true, truel

+ Array.new(4) { Hash.new } #=> [{}, {}, {}, {}]
s arr = [:a7, b, ¢, d?, e’ 1£0]

of array bounds: -6...6
7 arr.fetch(100, "oops") #=> "oops"

¢ arr.fetch(100) #=> IndexError: index 100 outside

Juctunr 1: Maccussl

CS 212 MATM: Ruby 6 ceHTs6psa 2019 r.

3/32



MaccuBsi

Pasmep maccuea

1 arr = [1, 1, 2, 3, 5, 6,]
> arr.take(3) #=> [1, 2, 3]
3 arr.drop(3) #=> [4, 5, 6]
+ arr = [1, 1, 2, 3, 5, 6, 8]
s arr = [1, 1, 2, 3, 5, 6, 8]
¢ arr.length =7

7 arr.size =7

g arr.count = 7

o arr.count(&:even?) # => 3
10 arr.count(l) # => 2

Jluctunr 2: Maccusbl 2
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MaccuBsi

[lobaBneHue B Maccus

1 arr = [1, 2, 3, 4]

» arr.push(b) #=> [1, 2, 3, 4, 5]

s arr << 6  #=> [1, 2, 3, 4, 5, 6]

+ arr.unshift(0) #=> [0, 1, 2, 3, 4, 5, 6]

s arr.insert(3, ’apple’) #=> [0, 1, 2, ’apple’, 3,
4, 5, 6]

Jlnctuur 3: Maccusbl 3
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MaccuBsi

Izbatme ns maccumea

1 arr = [1, 2, 3, 4, 5, 6]
2 arr.pop #=> 6

s arr #=> [1, 2, 3, 4, 5]
4« arr.shift #=> 1

s arr #=> [2, 3, 4, 5]

e arr.delete_at(2) #=> 4

7 arr #=> [2, 3, 5]

s arr = [1, 2, 2, 3]

o arr.delete(2) #=> [1, 3]

Jluctunr 4: Maccusbl 4
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MaccuBsi

compact, uniq

1 arr = [’foo’, 0, nil, ’bar’, 7, ’baz’, nil]
» arr.compact #=> [’foo’, 0, ’bar’, 7, ’baz’]

3 arr #=> [’foo’, 0, nil, ’bar’, 7, ’baz’,
nil]

+ arr.compact! #=> [’foo’, 0, ’bar’, 7, ’baz’]

5 arr #=> [’foo’, 0, ’bar’, 7, ’baz’]

e arr = [2, 5, 6, 656, 6, 6, 8, 9, 0, 123, 556]
7 arr.uniq #=> [2, 5, 6, 556, 8, 9, 0, 123]

Jluctunr 5: Maccusbl b
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MaccuBsi

MaccuBsbl

10

11

12

arr = [1, 2, 3, 4, 5]

arr.each { |al print a -= 10, " " }

# prints: -9 -8 -7 -6 -5

#=> [1, 2, 3, 4, 5]

words = %wlrats live on no evil star]

str = ""

words.reverse_each { |word| str +=
"#{word.reverse} " }

str #=> "rats live on no evil star "

arr.map { lal 2*a } #=> [2, 4, 6, 8, 10]

arr #=> [1, 2, 3, 4, 5]
arr.map! { lal a**2 } #=> [1, 4, 9, 16, 25]
arr #=> [1, 4, 9, 16, 25]
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MaccuBsi

MaccuBsbl

1 arr = [1, 2, 3, 4, 5, 6]

2 arr.select { lal a >3 } #=> [4, 5, 6]

3 arr.reject { lal a <3} #=> [3, 4, 5, 6]

s arr.drop_while { lal a < 4 } #=> [4, 5, 6]

5 arr #=> [1, 2, 3, 4, 5, 6]

Jlnctuur 7: Maccusbl 7
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MaccuBsi

Nuuumannsauus obbekTamu

1 a = Array.new(2, Hash.new)

2 # => [{}, {}]

+ al0][’cat’] = ’feline’
5 a # => [{"cat"=>"feline"}, {"cat"=>"feline"}]

7 al1l]l[l’cat’] = ’Felix’
s a # => [{"cat"=>"Felix"}, {"cat"=>"Felix"}]

NucTtunr 8: Moggox ¢ 0bbekToM B Maccuse
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MaccuBsi

VYMHOXeHMe MacCuBoB

+ [1,2,31%«3 #>1[1,2,3,1,2,3,1,2, 3]
2 [ 1 2 3 :l * u’u #=> 111’2’3u

2 2

Juctunr 9: Mopsox ¢ yMHOXeHUEM
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MaccuBsi

[1poaBrHYTbIE TPIOKK C MacCUBaMu

1 a=1[1, 2, 3, 4]

.combination(1) .to_a #=> [[1],[2],[3],[4]]

.combination(2).to_a #=>
([1,21,[1,31,[1,4]1,[2,3]1,[2,4]1,[3,41]

4+ a.combination(3).to_a #=>
(f1,2,31,[1,2,41,[1,3,4],[2,3,4]]

.combination(4) .to_a #=> [[1,2,3,4]]

.combination(0) .to_a #=> [[]] # one combination
of length O

7 a.combination(5).to_a #=> [] # no combinations of

length 5

[EEN
[

o o
oo

Jnctunr 10: Kombunaunn BxoxxaeHunii
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MaccuBsi

[1poaBrHYTbIE TPIOKK C MacCUBaMu

= [1, 2, 3]
.permutation.to_a #=>
(rt,2,31,11,3,21,2,1,31,[2,3,1],[3,1,2]1,[3,2,1]]
.permutation(1) .to_a #=> [[1],[2],[3]]
.permutation(2) .to_a #=>
(f1,21,11,3],[2,1]1,[2,3],[3,1]1,[3,2]1]
s a.permutation(3).to_a #=>
(ft,2,31,11,3,21,[2,1,31,[2,3,1],[3,1,2],[3,2,1]]
s a.permutation(0).to_a #=> [[]] # one permutation
of length O
7 a.permutation(4).to_a #=> [] # no permutations of
length 4

a
a

& W
(S

Nuctunr 11: Kombunaummn ¢ nepectaHoBKaMu
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MaccuBsi

MHoxecTBo

1 require ’set’

2 81 = Set[1, 2] #=> #<Set: {1,
23>

3 82 = [1, 2] .to_set #=> #<Set: {1,
23>

s+ 81 == s2 #=> true

5 sl.add("foo") #=> #<Set: {1,
2, "foo"}>

¢ sl.merge([2, 6]) #=> #<Set: {1,
2, "foo", 6}>

7 sl.subset?(s2) #=> false

s S2.subset?(sl) #=> true

Jlnctunr 12: MHuoxecTBa
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VcnosHble onepaTopbl

VcnoBHble onepaTopsl

10

11

12

x=1
if x > 2

puts ’x is greater than 2’
elsif x <= 2 and x!=0

puts ’x is 1’
else

puts "I can’t guess the number"
end

puts ’x > 1’ if x > 1
puts ’x <= 1’ unless x > 1
if x == 3 then puts "x is 3" end

Jlnctunr 13: Ycnoeubie onepatopsl
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VcnosHble onepaTopbl

VcnoBHble onepaTopsl

1 true 7?7 "this is true" : '"this is not true"

4+ case a
5 when 5

6 puts "a is 5"

7 when 6

8 puts "a is 6"

o else

10 puts "a is neither 5, nor 6"
1 end

Jluctunr 14: YcnosHble onepaTopbl 2
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Livknel n ntepaTtopsbl

Lnknbi

1 loop do

+ CII
3 end

5 1 =20
e loop do
7 i+=1
8 puts 1
9 break
the loop

10 end

2 puts "This will keep printing until you hit Ctrl

# this will cause execution to exit

CS 212

Jlnctunr 15: Unknb
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Livknel n ntepaTtopsbl

Lnknbi

1 while x >= 0
2 puts x

3 x =1

4+ end

e until x < O
7 puts x

8 x -=1
o end
Jnctunr 16: Unknbr 2
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Livknel n ntepaTtopsbl

Lnknbi

1 begin

2 puts "Do you want to do that again?"
3 answer = gets.chomp

4+ end while answer == ’Y’

¢ for i in 1..x do
7 puts 1
s end

10 X = [1, 2, 3, 4, 5]
11

12 for i in x do

13 puts 1

u end

”III!'TIIII-II' 17' IIIAI{HLI q
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Livknel n ntepaTtopsbl

Lnknbi

1 b.times do

3 end

2

s n.times do |il
¢ end

r #1=20,1,2,3,4
Jluctunr 18: Unkner 4
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Livknel n ntepaTtopsbl

next, redo

next - nepexoamnT K CAeayoLWeMy Lwary Camoro BHyTPEHHEro LuKia
6e3 nposepkmn ycnoBuii redo - HAYMHAET 3aHOBO CaMblii BHYTPEHHN
UMK Be3 NpoBEPKN YCIIOBWIA
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Xawmn

Xowmn

> grades = { "Jane Doe" => 10, "Jim Doe" => 6 }

3 options = { :font_size => 10, :font_family =>
"Arial" }

+ options = { font_size: 10, font_family: "Arial" }

s options[:font_size] # => 10

s grades = {}

7 grades = Hash.new(0)

s grades = {"Timmy Doe" => 8}

o grades.default = 0

Jluctunr 19: NHunumnannsaumna xeluei

CS 212 ATM: Ruby 6 cenTabps 2019 r. 22 /32



Xawmn

Xowmn

> h=4{"n"=>100, "m" => 100, "y" => 300, "d" =>
200, "a" => 0 }

s h.invert #=> {0=>"a", 100=>"m'", 200=>"4",
300=>"y"}

= { "a" => 100, '"b" => 200 }

.has_key?("a") #=> true

.has_key?("z") #=> false

= { "a" => 100, '"b" => 200 }

.has_value?(100) #=> true

.has_value?(999) #=> false

\.
(=== S = = =2

Jlnctunr 20: MeToabl, KOTOpbIX HET ¥ MacCUBOB
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Xawmn

CnungHue xaweii

2 hl = { "a" => 100, "b" => 200 }
3 h2 = { "b" => 2564, "¢" => 300 }
s hl.merge! (h2) #=> {"a"=>100, "b"=>254, "c"=>300}

e hl = { "a" => 100, "b" => 200 }
7 h2 = { "b" => 254, "c" => 300 }
¢ hl.merge!(h2) { |key, v1, v2| vl }

Juctunr 21: CansHne
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Rehash

10

def raise_and_rescue

begin

puts ’I am before the raise.’
raise ’An error has occured.’

puts ’I am after the raise.’
rescue

puts ’I am rescued.’

end

puts ’I am after the begin block.’
end
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PerynsipHbie BbipaxkeHus

PerynsipHbie Bblpa>keHUs

1 /hay/ =" ’haystack’ #=> 0

2 /y/.match(’haystack’) #=> #<MatchData "y">
s /hay/ =" ’haystack’ #=> 0

+ ’haystack’ =7 /hay/ #=> 0

s /a/ =7 ’haystack’ #=> 1

e /u/ =" ’haystack’ #=> nil

Nuctunr 23: PerynspHbie BbipaxeHust
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PerynsipHbie BbipaxkeHus

CneucnmBsonsbl

1 /1 \+ 2 = 3\?/.match(’Does 1 + 2 = 37?) #=>
#<MatchData "1 + 2 = 37">

2 place = "test"

s /#{place}/.match("Go to test")#=> #<MatchData
"test'>

+ /Wlaeioulrd/.match("Word") #=> #<MatchData "Word">

s /[0-9a-f]/.match(’9f’) #=> #<MatchData "9">

e /[9f]/.match(’9f’)  #=> #<MatchData "9">

Jlnctunr 24: MNpumepbl MCNoabL30BaHMUS

https://ruby-doc.org/core-2.4.1 /Regexp.html
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Daiine:

dalinbl

10

11

12

13

14
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File.open(’test.csv’, ’r’) do |f]
while line = f.gets
puts line
end
end
File.readlines(’foo.bar’)

File.open(’test.txt’, ’w’) do |f]
# use "\n" for two lines of text
f.puts "It will be \n two lines"
f.write ’Just a string’

end

File.write(’/path/to/file’, ’Some glorious
content’)
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Daiine:

dalinbl

10

File.absolute_path(’ex5.rb?)
File.atime(’ex5.rb’)
File.birthtime ’ex5.rDb’
File.ctime ’exb.rb’

File.mtime(’ex5.rb’) #=> Tue Apr 08 12:58:04 CDT

2003
File.utime(aTime, mTime, filename)
File.basename("/some/path/ruby.rb") #=>
"ruby.rb"
File.basename(/some/path/ruby.rb", ".rb") #=>
"ruby"
File.basename ("/some/path/ruby.rb", ".*") #=>
"ruby"

File.zero? text.csv #exists and has zero size
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Daiine:

Daiinbl
1 File.exist filename.txt
2> File.exists filename.txt #deprecated
3 File.extname #extension
+ File.identical?("testl", "test2")
s File.join("usr", "mail", "me") #=> "usr/mail/me"
¢ File.rename("afile'", "afile.bak")
7 File.split("/home/me/.profile") #=> ["/home/me",
".profile"]

Nuctunr 26: MeTtoasl knacca File 2
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HaTta n Bpems

[aTta n Bpems

1 require ’date’

2

3 d = DateTime.new(2001,2,3)
s+ d.year

s d.month

6 d.day

7 d.cweek

s d.cwday

Nuctunr 27: JaTa u Bpemsi
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HaTta n Bpems

[aTta n Bpems

1 require ’date’

> Date.parse(’2001-02-037) #=> #<Date:
2001-02-03 ...>

3 Date.parse(’20010203°) #=> #<Date:
2001-02-03 ...>

+ Date.parse(’3rd Feb 20017) #=> #<Date:

2001-02-03 ...>

s Date.strptime(’2001-02-03%, ’%Y-Ym-%d’) #=>
#<Date: 2001-02-03 ...>

s Date.strptime(’2001-W05-6, ’%G-W/V-%u’) #=>
#<Date: 2001-02-03 ...>

7 Date.strptime(’2001 04 67, %Y %U %w’) #=> #<Date:
2001-02-03 ...>

s Date.strptime(’sat3feb01’, ’%a%dibiy’) #=> #<Date:
2001-02-03 ...>
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